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1. (8 pts) Write the equations of the following lines through the point (6, 7).

(a) Which is perpendicular to the line y = 3z + 5. ‘
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(b) Which does not intersect the line y = 2z + 1. :
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2. (10 pts) Solve each equation.
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3. (8 pts) Sketch the graph of f(z) = Asin(Bz + C) for —5 < x < 5 where the period of
function f(x) is 4, amplitude is 3.5 and it passes through the point (1,0).
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4. (8 pts) Find the following values.
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5. (10 pts) Compute the following values by using related trigonometric formulas.
a) sin(157.5°) — <; Y Lo i
(2) sin(157.5°) = sin (225°) = gin (45°)
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6. (12 pts) Prove the following trigonometric identity: -

sin 3x
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7. (12 pts) If tan 20 = 3 and «x is in the first quadrant then use basic trigonometric identitics
to find tan 3z. k
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8. (10 pts) Find tany if we know that 0 <z < 7, secz = /17 and tan(z —y) = 2
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9. (10 pts) Determine whether the following triangles are possible or impossible by using

law of sine and/or law of cosine.
(a) Sides of the triangle ABC: a = 5, b = 13 and angle: A = 60°, B = 90°
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(b) Sides of the triangle ABC: @ =7, b= 3, ¢c = 5 and the angle: A = 120°.
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10. (12 pts) Solve the following trigonometric equation for = € [0, 27):

; 3
sin®(z) = %sin(%)
S“,\ix — ;_V&kx LrpX = =iax (s\‘/\\c— {7 Caﬂd =0
Sonax =0 = X '_-.—._QITY,Q_T

5;‘«\)(-—(3:9 Cmt =0 = foX = \Ea :)XZT“;‘; Jlﬂ\;_i\-

%<
1
0O
=t
o i
:r’l

B




